
Class:Class 4 Subject: Maths Topic:Roman Numbers

S.No Question Answer Options

1 Choose the correct option : C 
is _________ 100.

Less than (

Greater than (>)

Equal to (=)

None of the above

Less than (

Greater than (>)

Equal to (=)

None of the above

2 Change the following to a 
Roman Numeral : 737

DCXXXVI

DCCXXXVII

DCCXVIII

DCCXXXV

DCXXXVI

DCCXXXVII

DCCXVIII

DCCXXXV

3
Fill in the blanks : 450 in 
Roman numerals is written 
as __________ .

LD

CDL

CCCCL

None of above

LD

CDL

CCCCL

None of above

4 Identify the solution : VII + V 
= ____________

Answer
____________

Answer
____________
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5 True or False : LXXXVIII > 
XC.

True

False

True

False
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Correct Answer is
1. Correct Ans option is Equal to (=)
2. Correct Ans option is DCCXXXVII
3. Correct Ans option is CDL
4. Correct Answer is XII
5. Correct Ans option is False
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